Instructions: Each equation below contains the initials of words

that will make it correct. Find the missing words. For example:
26 = L of the A would be 26 - Letters of the Alphabet. : #2
By: Al Bender

l. 16 = BonaPT (including the CB)
2, 15 =1 of M--B

3. 800 = PS on the CB

4, 4,6, or 8 = C in an AE
5. 13 =C in a BD

6. 9 =D in a SSN

7. 2=Win aF

8. 12 =D of C

9. 48 = S in the CUS

10. 144 = P in a G

11..8 = P of.S

12. 206 = B in the HB

13. 37 = P that WSW

14, 435 = R in the H

15. 3 = P in an IHG

16..30 = NAP at SL

17. 1 = E on a C

18. 50 =Y of M for a GA
19. o= D in ¥

20. 2000 = P in a T

21. 0=C in a G of W

22. 6 =Z in a M

23. 1999 = LY in the TC
24, 7 = PA for a T and an EP

23 = S
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